Sample paper for GROUP - C
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The word “irritated’ most nearly means:

annoyed (b) troubled
uneasy (d) frustrated
Which of the following words is a preposition?
Beyond (b) And

Yet (d) Now

Which of the following sentences has a collective noun?
Rekha is a fool (b) Cattle are grazing in field
He has a lot of milk (d) The air is cool here
Which one is an adjective:

Use (b) Useful

Using (d) Usefulness
Choose the correct pronoun to complete the following :

This book is and that one is mine.

Our book (b) Your

Yours (d) Yours book

Persons working together in an office are called:
Friends (b) Companions
Colleagues (d) All of these

The word “innocent” is opposite in meaning to that of:
Clever (b) Ignorant

Active (d) Guilty

Choose the correct word order:
(b) Why did she leave so early?
Why did so early she leave?  (d) Why so early did she leave?

Choose the correct figure of speech in the following
Sentence: “Death lays his icy hand on King”

Why she did leave so early?

Metaphor (b) Personification
Apostrophe (d) Simple

Poetry teaching should be basically a process of:
Sadness (b) Joy

Cry (d) Anger
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foa eifaa &1 ref 2— “dvg afore siar 2

Aqra & 3ATF ALY (b) IS TN Beabd I
R feq @1 areh rar Sferal sREx T
fpr e Y @ @ grefr

TEATT TS § Yy @

o (b) @

3T @ g

M Ry Tg garar &1 Aef FargA-—
"HIe "9l &1 g+ fi=r°

1 UEer BT (b) WRT ART fh==m

def am=T HRAT (d) Srg¥d BT
Light year is unit of:
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Weight (@ Capacity
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Beginning of STD service in India:
WRA ¥ STD |4l &) JHIATd §3—

1950 (b) 1957

1972 (d) 1960
Sound can not travel through a:

fre1 & @ eafy fooa wegw & T 9 G-

Water Air
olidd (b) a1y,
Vacume Metal
frafa @
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Aurobindo Ghosh b Mahatma Gandi
Rfa< =oiwr ®) rgren e
Subhash Chandra Bose Bal Gangadhar Tilak
g I 919 @ grar TR frers
Causes of AIDS

TS e ® BRI BT o—

Bacteria Amoeba

TR ®) arefrar

Virus (@) Fungus

qRRY HHal

Which one is wrong pair:
g8 @ @IF IGTd 2

London-Thames Paris-Danube

deT—<w () TRE—sa
New York-Mississipi q New Delhi-Yamuna
wad-fredRet (@ ¢ Rieeh—a

Who is the author of the book: “The Life Divine”
g AR fSarEa” & d@d 28—

Ravi Shankar Swami Vivekanand

(Y MHR ®) @l feT<
RadhaKrishnana (@) Aurobindo Ghosh
RTETH IO aRfa< =i

The next Term of the following series is:
=1 Aot F @ o el Bw ) GEar -
1, 2, 5, 16, 25, 326 ?

1956 (b) 1957

1955 (d) 1987

If TEN = 72, MEN = 65 then HAT = ?
afe TEN=72, MEN=65 df HAT=?
70 (b) 62

75 d) 60
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Choose the correct missing word:

34 61
3| 6
5 5
7 6
? 8
113 100
8 (b) 4
6 @ 5
n?— 1 is divisible by 8, if n is:

An integer (b) A natural number
An odd integer (d) Aneven integer
A quadratic polynomial, whose zeros are -3 and 4, is :

x2-x+12 (o) x*+x+12

=.Z-6 (d) 2x?+2x-24

The pair of equation x + 2y + 5=0and -3x — 6y + 1 = 0 has
A unique solution (b) Exactly two solution

Infinitely many solution ~ (d) No solution

The square root of sum of digits in the square of 121 is :

4 () 3

6 d 9

A dice is thrown once. The probability of getting the square
of the number appearing on the dice to be a multiple of 9, is

TP T U 91X BHT ofidl 2, I R 3 arell I&ar &7 ot
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If 5'6;";3) = 24, then the value of (2 x + 1) is
0 () 1
2 (d) 3
. 1 1 1 1
Thevalueof.s[ﬁ+1+\/3_+ﬁ+ﬂ+\/§+ ........ m]
Isequal to :
27 (b) 81
3 d 9

If fraction s (Where p and g are co-prime integers) is
terminating decimal, than q can be:

1875 (b) 7500

875 (d) 4096

Ifsin@ cos @ = % , 10°< 0 < 90°, the sum of all possible
values of tan 6 is:

25 16
- by —
F .-
= d 1
5e (d)

In the given A ARC, E isa pointon AD. If L AEB,
/ ADB And/_ ACD are equal to 180 — ki, 180° —K3,
180° —K3 respectively then ki: ko: ks equal to:

A
X |X
B D C
1:2:3 (b) 2:3:4
3:4:5 (d 1:3:5
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If a kg of water mixed with 2 kg of liquid of density 3 g/cm?®
Then the average density of mixture will be:

af% 1 fear arft &1 2 fral g9 @ e e fFar s 2
et =@ 3 g/cm®?, at fisor &1 'ca /= shm—

2.4 glcm? (o) 15g/cm?

2 glcm? (d) 1.8g/cm?

The total number of electrons present in 4.6 g of sodium is:
4.6 g wifsaw o wige sAag™l &) G G&Ir -

1.32 x 10% (b) 11.12x10*

2.01x10% (d)y 1.20x10%

If molecular formula of the chloride of an element “x” is
XCl3 , then molecular formula of its oxide will be:

Ffg a@ X" B FalIgs &1 anfvaw gF XCls 2 at sua
JfTarss &1 ATvsfas ¥ -

X203 (b) XOs3

X20 (d) XO:

The boiling point of a liquid X is 20° C more than that
water. Boiling point of X is:

TP od X & @d od & daoias 4 20°C aftres 21 X
BT 9D B

353 K (b) 373K

393 K (d 120K

Which equation shows the reaction of Photosynthesis?

g T8 er &1 fbar &t fea whiewer gt <'rfd -
Coz + H20 = CH20 + O2

6Co2 + H1206 - 602

6Co2 +6H20 - C6H1206 + O2

C6H1202 +602 —»6Co02 + H20

Which is the vestigial organ in man:
AT BT BIF AT AT I ref I shar 3

Penne Muscles (b) Penne

& geera U ray Y Yoold

Lactic Acid (d) Formic Acid

go qid

Hard matrix of a particular type of connective tissue is

composed of calcium and phosphorus compounds. The cell
embedded in this matrix are:

o 19 9eR © FAiSfl e & woik Afew ofe’™w
TAT BIBING P GBI b1 91 siar 2 | 39 dfcqq o

B THTHIE E—

Fibroblasts (b) Osteocytes
Chondrocytes (d) Mast Cells
The cells of which tissue differentiate to form different

types of permanent tissue?
faa sae 9 e fafea giex 91 yerR & emh
Sed® Il @ ?

Sclerenchyma tissue b
qEIa® Hedd (b)

Collenchyma tissue
R[ABIVIAD Hedd
Parenchyma tissue () Meristematic tissue

qAdd Hdd s Sas

A stone weight 25 N in air and 12 N when immersed in
water. The magnitude of buoyant force action on the stone
in water is:

TP 9o &1 a1 # AR 25 N ik ur+ft & gaig o1 = 12 N
gar 2, 9l § geeR W N 91l SdrEs &1 9§71 F 1T
?

25N (b) 13N

37N (d) 12N

The maximum number of electrons that can be
accommodated in N shell of an atom is:

fo<ft goep & N i & aiftread geagl @1 W faad
8 a&dl 3

32 (b) 36

8 (d) 18




